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Model Test Paper-I

(Based on Chapters 1 to 9)

Instructions :
1.
2.

All questions are compulsory.

The question paper consists of 30 questions, divided into three sections — A, B and C. Section A consists of
10 questions of 2 marks each, section B of 10 questions of 3 marks each and section C of

10 questions of 5 marks each.
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SECTION - A

Findthevalueof ‘n’ifn+7=17.
Write additive inverse of —15.

Solve 5°7%=25.

Find the rational number with which (-6) " should be multiplied so that the productis 9.

Express 71865000000 in the form of Kx10" where n=6.

Find the greatest number of two digits which is a perfect square.

Find the cube root of 389017.
Factorise:14a—21.

Solvethe equation:3(x+1)=12+4(x—1)

Replace question mark with appropriate numberin5°+6°+? =31’

SECTION - B

7 7
Represent — and —— onthe numberline.
2 2

By what number should we multiply -4 to get =3 ?
7

Find the square root of 8281.

Find cube root of 216 x 125.
4x +18
=5
2X
Write (x’=1)(x*+1) in the standard form.
2.5x2.5-0.5%x0.5

2.5+0.5

. . 1
Find two rational numbers whose absolute valueis = .
5

Solve:

Factorise :

-1
What rational number should be added to—1to get??

Write 3.8 x 10" in the usual form.
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[ SECTION - C ]

1.  Findthe product of (2xy*—5xy’) and (x’—y°).

. -12 13 1 =31l
2. Dividethesum of7 and ? by the product of —2 and T
. . S 6
3. Find10rational numbers between13 and 13"

4. Determinexandysothat3*'=81and81'=3
5.  Findthe costof creatingafence around asquare field of area 9 hectares at a cost of T 25 per metre.

6.  Whatistheleast number by which 120393 should be divided so that the quotient has cube root?

7. Aropewas 6a’—5b+9cmetres long. A piece of —7a’ + 6b — 10c has been cut out of it. Find the length

of remainingrope.
8.  Factorise:x’y"—6xyz+97"
9.  Simplify(m+1)(m’=3m’+4m-5)—(3m-2) (m’-m’+5m—7)

10. Twonumbersareintheratio?7:8andtheirsumis45. Find the numbers.
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